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1 | BRR=KR JAL| 10,000 51% BN o7 IFRFER
2 | HE=%M JAL| 13,000 61% ey d=] 75 HA RN
3 | HE=#LIR JAL| 13,000 58% 1A22H ~ 1H288| 11228 ~ 12818
4| EER=E JAL| 14,000 63% 28128 ~ 28188| 128128 ~ 12821H
5 | KBrR=1a JAL| 10,000 50% 2H298 ~ 3B6H| 12H28H ~ 186H
6 | KBR=#L1} JAL| 14,000 63%
7 | KER=3R%5 JAL| 13,000 59%
8 | tEkE=#L1% JAL| 14,000 70%
9 | fE=30%H JAL| 11,000 56%
10 [ *LiE=3R%H JAL] — —_—
11| BE=2%#5 JAL [ 14,000 63%
12 | EmER=h8JI| JAL| 13,000 64%
13| B =8I JAL| 14,000 61%
14| RE=MBEHE [ JAL| 14,000 60%
15| HE=FfE JAL| 13,000 55%
16| HRE=F%% JAL| 13,000 53%
17| BRER==R JAL| 13,000 52%
18| EE=FH JAL| 12,000 47%
19| HERE=IU% JAL| 9,000 46%
20 | =/ JAL| 10,000 50%
21 | R =mafEE JAL|[ 11,000 59%
22 | HE=FWL JAL| 12,000 57%
23| RE=IL8 JAL| 12,000 58%
24 | BRRER=IUOFH JAL| 12,000 62%
25| RE=HE JAL| 12,000 58%
26| HE=f5 JAL| 12,000 56%
27| FE=g JAL| 12,000 56%
28 | =t JAL| 12,000 59%
29| HE=5%H JAL| 12,000 58%
30 | BmE=dtim JAL| 13,000 61%
3| EE=X% JAL| 13,000 60%
32| HE=RIK JAL[ 13,000 64%
33| HE=FEX JAL| 13,000 61%
M| FER=EIF JAL| 13,000 61%
B | FRER=FRE JAL| 13,000 64%
36| FRER=EKXE JAL| 13,000 69%
37| RE=4TE JAL| 9,000 46%
38 | KBr == Al JAL| 14,000 68%
39 | KBR=hREJI| JAL| 14,000 67%
40 | KR =EHEE JAL| 14,000 61%
M| XKER=F% JAL| 13,000 61%
42 | Kfr==iR JAL| 13,000 63%
43 | XBr=%HA JAL| 13,000 57%
4 | KER=TE5 savex| 13,000 60%
45 [ KBR=IL% JAL| 12,000 59%
46 | Kfr=1L& JEX] 12,000 58%
47| KIR=%&E5 JAL| 12,000 56%
48 | KR=%m18 JAL[ 12,000 55%
49 | KfR=FIK JAL| 11,000 53%
50 ilyi - ﬁ?ZIK JAL/JEX 11 ,000 49%
51 | KER=E &K JAL| 11,000 49%
52| KIR=FERE saex| 11,000 55%
53| KIR=EEKXE saeex| 12,000 64%
54 | ZEE=%L1% JAL| 14,000 59%
55 | ZEE=8I% JAL| 14,000 64%
56 | AEE=¢(METEA | JAL| 14,000 63%
57| BEE=F% JAL| 13,000 56% BIN\—45 017 5% FH
58| #GE=Hf\H JAL| 12,000 54% [C#=r |G
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50 | ZBEE=1EH JAL| 13,000 54% 182280 ~ 18288 118228 ~ 12818
60| FEE=HE JAL| 12,000 54% 2A128 ~ 2A18R| 128128 ~ 128218
61| EE=E JEX]| 12,000 54% 2H298 ~ 3e6B| 128288 ~ 1H6H
62| BEHE=%5 JAL| 12,000 49% B
63| AEE=ML JAL| 11,000 49%
64| BEE=5H JAL| 11,000 54%
65| BEE=1EH JAL| 11,000 53%
66| FEE=RIKB JAL| 11,000 62%
67| BEHE=EX savsex| 11,000 59%
68| HE=FERE JEX| 11,000 62%
69 | HEHE=HE JAL| 14,000 60%
70 | f2RE=1qL& JAL| 14,000 65%
71| fEE=F%N JAL| 9,000 59%
72 | R =%l JAL| 9,000 53%
73 | ER=EIF JAL| 9,000 50%
74 | FLIE =25 Rl JAL| 9,000 54%
75| AR=FF JAL| 9,000 54%
76 | #LiE=%A JAL| 9,000 60%
77| #LiR=TEE JAL| 10,000 57%
78 | #ALIE=1L% JAL| 11,000 59%
79 | ALIE=ALE savex| 11,000 58%
80 | fLIR=IL58 JAL| 14,000 67%
81| Iu&E=3% JAL| 14,000 70%
82| fEE=7R=n JAL] — J—
83| BIRE=EEXKE [JAL| 11,000 48%
84| BERE=fE-E JAL[ 11,000 55%
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1| WR=%H JTA | 14,000 63% BINA—45 Jr7 1% EH
2 | XlR=3% JTA | 13,000 59% BxA E T
3| EE=3F JTA 11,000 56% 1228 ~ 1B28H]| 11H2280 ~ 12B1H
4| KfR==d% JTA 18,000 58% 28128 ~ 28188| 128128 ~ 12H21H
5 | RR=F1E JTA | 20,000 63% 28298 ~ 3A6H| 128288 ~ 1868
6| FE=Ed JTA 19,500 62%
7| Kr=%H18 JTA 19,000 57%
8 | RE=I% JTA 18,000 58%
9 | /MA=FR%R JTA 16,000 57%
10 | WL =3R% JTA 15,000 52%
11| SE=38% JTA 13,000 55%
12| ®U=33% JTA 13,000 55%
13| dbhi=3R% JTA 11,000 56%
14| BREBF=FH1E JTA 9,500 55%
15| BFBFE=EH JTA/RAC| 9,000 44%
16| AE=Ef JTA/RAC| 7,500 31%
17| BHBE=AXE JTA/RAC]| 7,000 35%
18| AE=5IH JTA/RAC| 7,000 35%
19| BHE=5H RAC 8,500 35%
20| BEB|=FEE RAC — -
21| BEHE=mKE RAC - -
22 | EFE=JtXKE RAC - -
23| mAE=1LXE RAC - -
24 | M=% EF RAC - -
25 | RiE= KB RAC - -
26| EH=%EHM RAC — -
27| AMEFE=5HHEH RAC 11,500 60%
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1| ALR=1EMEDHLE|JAC| —- — BINN—52 07 1% ER
2| XKlr=%&5 JAG | 12,000 56% EEE 2555 AR
3| KRr=%15 JAC | 12,000 55% 18228 ~ 1H8288| 118228 ~ 12A1H
4| KBR={EMEDHE|[JAC] — — 28128 ~ 2H188| 128128 ~ 128218
5| KBr=a7/M{EE [JAC| — — 28298 ~ 3H6H| 128288 ~ 1A6H
6] KR =[25% JAC| -——- —
7] KR=HZE JAC| — —
8| KBr=#il JAC| 9,000 42%
9| Kir=18R[ JAC | 10,000 50%
10| KfR=X% JAC| 11,000 38%
1] KR=F=IF JAC| 11,000 49%
12| KIR=KERE JAC| 11,000 55%
13| KIR=HFE5 JAC| -—— —
14| ERA=EMEDIELE|JIAC| — —
15| fEaffl=HZE JAC| — —
16| fE=E5 JAC| —- —
17| f&ff =1l JAC| 9,000 53%
18] EM=FERE JAC| 8,500 50%
19| HE=[RK JAC| -—— —
20| LEBA=E JAC| — —
21| ERE=ML JAC| — —
22| BRE=ILE JAC| -—— —
23| BERE=8# JAC| — —
24| BIRE=#¥L JAC| -—— —
25| ERE=HEFE JAC| — e
26| ERE=RAE JAC| — e
27| BIRE=®3xXKE [JAC| 11,000 46%
28| BRE=E/RE JAC| -—— —
29| BRE=#Z25 JAC| -—— —
30| ERE="XKEH |JAC| — —
31 EE Iﬁ.‘. % = 5—5@ JAC - -
2| BEXE=ERE [JAC| — —
| BEKRE=fZE [JAC| — —
M| EXAE=HKBE|JAC| —— —
35| pKRER=5 [JAC| —— ———
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1 % =3l HAC| 9,000 50% B\~ 07 |5REH
2 | ALIR=FNEE HAC| 9,000 42% — T‘%ifajxm I e
3 | EfE=h8]I| HAC| - - 1228 ~ 1B288] 118228 ~ 12818
g EJII—ﬂ:Igé :ﬁg - — 2128 ~ 28188| 128128 ~ 12821H
I ER =3l — — 28298 ~ 386 1 ~
ams s oL — - 282 A6H| 12H28H 1HA6H
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